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1L BARHTH

Wit TR 5 BT R 5 &3 5 % ot 8 5 BTt S BIARHEIL & 1B BT o

EERMETRRGEBAERPEXG N, BLMEHM—RIE RO FERER
AERBENTHRS, —BHRZAATFEMIH . EFER, BTRERREEZSBRATF
AP o

2. R HTY

SR BT A XA E RS BIEXRRGTE) , B EMITREIMEEL S % &
BE—R, BdREEEES . XN EERN SRS HIZHE, WH—7NE
ERARS —REMINZ S HREEE S, SMUMEETSMIRMNAG, B
HHEARRHIAM . SHOHTEE. LT HH LS AEE LRGN RES,
ERKIEETETHFZHNEGATEG RSN & AR B HAR, ZHETTL
B RA B R R EREREY, MERGRSNREE—ENFERXR(MFEESY
A HIXE ) o

3. LY

(1) EHEARBEZ DT HS BRNFTOR, BT ORETTRREK, HEERRFEA A
), HREHE Y S5 AP A BE E MBI TR NG BTG
5, WLREL, BERsEEE,

(2) FBERFFENMEE HPZARKE WL SENALLT, MRELHEN
KT

(3) EHE AR, '

—RRYL, BAURHENEANELNER S, -K, MELPRER K-S, HP
K FRZZ B, Sp R B HARM B ™= i B M 4% . s b ER AR, . =007
MREEILE 1 -1(a) . (b),

L&~ o2l
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4. AL

8744 (futures contracts ) f&—NFERE R -5 52 HU B A #1858 B A4 SE A B3 Y 230
BRI, R EART S TR ORI AN —FEMTE, EHEARE. &
AR . RE HH. RE RS RRELR, Bik, iReARERERNRIN,
PR ENEZGFNHITRE S .

5. RAEY

(1) BIBCARIFPEARAR, HIEKPTUNE BRI, FIKPI(call option) HWFFHEH
AU — 2 B 18] PN AR — 58 B AR I SEAR B B 72 . B RIAAR (put option ) B R # A 1K
3 — B 5 B 1) P9 A — T R AR SE AR ™= . AL 20 b BB 8 W B AR R A BT A
¥ (exercise price ) BRI E #i 4% (strike price) , S 2 AY H 0 #5 H (expiration date) . AT
H (exercise date) Z{F]HA H ( maturity date) . %iﬁ,ﬁ,ﬂﬂ( American options ) B] LATERAAR A SHA A

TAEATES ZI AT s BRI (European options) {UREZERIHA H PfT,

FERAN—SE, PRBRARTHEZTEREMSH, WA EFELFITHEX—
B,

(2) T LA NMEENS5E .

O BHBARIELE ;

Q@ BN EE;

® BBIANH WL E ;

@ BBHRHEE,

WRELFEL, MEEELTE L, HE—H IR A W HHAEE A (writ-
ing the option) ,

(3) KRB HRBINE LB N : max (S, K, 0); BRAF IR Lyt b
-max(S; K, 0) =max(K-S;, 0); BRRAFHIANE KWW N : max(K-S;, 0); KX
B BRI ES kB s - maX(K Sy, 0) =max(S;-K, 0),

6. XA EA

(1) ZEERLGA=AKRE: EFGES. #IE. gﬂ%‘o EIAREE (hedger)
RS . ARSIk BRI B TR TG AT AT BB S B XUz, 113 (speculator)
DU P 6 2 Rl T BN TS B R R E S T i . TEFE (arbitrageur ) MEE WA REE L
M T E SRR TR s, H B & FTRA Bk S IR

(2) FFIZEHEAHITELER BT SIS MR R LR R E, TF A RS At
TEGRENZAREERMLT —FRE, —5 0T ERRE G257 =M A FI 231 ok
B, — X REE B R A AR =N E MBS, B2, WAL, TE
A H BAAL B

(3) ERMATFFHR T E, IR E OIEARMME, E & ZRTEFE
BERR, LSHBYLEMFE AR, BEMKSMBRKERIEE KW, B4R, Tt
GRERE, BAOLE M BRBR U AT BB

(4) ZERR, PRAEHTG L, ENEWRBEENSSE ., EAYRFEINFEAR
REANTGHTRS, UBE— TR IR

7. AT E LA

R R B B E B WA RGE B AR 4 % 8 & 5 Y (plain-vanilla ) BUE #R MERIATAE T R
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A WA BE 2 B RE B ECE B BRI B AR LT A TRA-SEE PR & 2

#X ( exotic options) ,

1.2 BREIWAiEfR
1. BREZHELE5EHSLMER,

What is the difference between a long forward position and a short forward position?

E: BALEHZLLTHR S BRI ARRFE 1 E et LR — g M s e —E
BRBAREBE ™ MHA IS 3k 3k T 132 5 3 W R B TE SRR T — B 2 I B 8] LA — B 2 1
Hrig i & — ERE IR TR,

2. BEEHRE., RILSEFNEI,

Explain carefully the difference between hedging, speculation, and arbitrage.

E: XHENERRERE LA R EEERE TN H RO XS O, S37ERR
BT 3 4R — 8 Sk T R X X — KUK M D BTE 3. WIZEBEALAR, A B3R e 7 v
XD, TR = A SRR B S T I . BRI Y REFANREEZS N RE TG F
R kT R BUE —E A,

EWRER HERBUENHE, HERFEMRESRE, MRILSEMENTEBZME, 5
BAUVHELL, EFERAXEE/D, B A BFRA RSP SAREHY, KON,

3. BEZITTUIEZHMNEAR SO EXNZHERERBIITNERS 50 E£THEHREN
BIX A,

What is the difference between entering into a long forward contract when the forward price is $
50 and taking a long position in a call option with a strike price of $ 507

E: ZiDciann, ®EHEEAL S0 ZITMLH ™M L5 HEREEER, REHFL
MR IR A R 22 MM TSR T ARMEE™, BEZITSFRNRRESLM B RAE, FFEH
AU, HEA L 50 HITMEYE = B H, HIFR—E RITHN R 7ERBUHR,
BHEE T AT

4. ﬁ*ﬁﬁﬂﬁﬂi‘%ﬁ?ﬁﬂﬂﬂ*ﬂ%)\ﬁﬂiﬂ%ﬂtlﬂE’JEEUO

Explain carefully the difference between writing a call option and buying a put option.

Z: HE—MERINEEE —BRANESEAN, HEEERAEKRPINE L, HE
AFas Sk RIS, HERERPATIIRT, 2k AR BBUT IR SRR =, Hilk
#fE: min(K-S;, 0) + Hif%% o LA—REBRIBRIENFE AL —HEBIN, 77N
FYHNE L, HANAINS, S2LTHFEPITIINN, HEER L FERBIITNH
TOEARMB= . BRTTWAER: max(K -Sp, 0) - HIWBE, AHEEMRBAHHELT, HilE
— BB, WRBRANRT(HAXNPHRERERS) . HL—HFEHRINE, 1K
HRIEMNTE(FENBEREERSIITIEBRD) .

5. MZSEETT—H1IZATHMIERS LAY, EMICEA 0.0080 £5T/HT,
MRESAZIHRHCEE H(a)0.0074 E£5X/HT, (b)0.0091 E£5X/BT, XZEHEHWE
FHREES D7

A trader enters into a short forward contract on 100 million yen. The forward exchange rate is $
0. 0080 per yen. How much does the trader gain or lose if the exchange rate at the end of the con-
tract is (a) $0.0074 per yen; (b) $0.0091 per yen?

3



2. (a) WICH N 0.0074 55/ H TCAT, 355 % fE B 0. 0080 375/ H LAY 0 5% i
100000000 A 75, F 52 60000 37T (100000000 x 0. 0006)

(b) MICH N 0.0091 375/ H JTh, 325 HAELL 0.0080 XI5/ H J6 A9 IC & 32 ik
100000000 H %, FAi%k % 110000 355100000000 x0. 0011)

6. —IMLESHHET—MRLBEEEY, HEMNEHR S0 £H5/8, ALHMEN 50000
B MRAESAHINRMILENEI A (a)48.20 £H/8F, (b)5L.30 £5/8, XHHAMRm
HEDH? - »

A trader enters into a short cotton futures contract.when the futures price is 50 cents per pound.
The contract is for the delivery of 50000 pounds. How much does the trader gain or lose if the cotton
price at the end of the contract is (a) 48.20 cents per pound; (b) 51.30 cents per pound?

Z: (a) MBS G EH M 1E 48.2 RA/BERIMAELL 50 R/ BRI th &, Wids =
(0. 5000 - 0. 482) x50000 =900(34})

(b) MEIRR G E KA 51. 3 FE5/BERIMAELL 50 K4/ BE Mk i, #i%k = (0.513 -
0.500) x 50000 =650(3£43) o ‘

7. RRRHET—HIEEESR & HREMARFARHBOFRAN, HITHHEA40 £
T, EAREEM. BRELEMEAS 4 £, SAMEA 100 HRE, BATKERMH
TH AR EE WM |

Suppose that you write a put contract on AOL Time Warner with a strike price of $ 40 and an
expiration date in three months. The current stock price of AOL Time Warner is $ 41 and the con-
tract is on 100 shares. What have you committed yourself to? How much could you gain or lose?

& REHT —MEBHI. MREAR S —ITEHERATRAER, Ll 40 RoTE B
Mg, ROFIRELDX—MHE LT 100 BARM RS, RA LREMRFES 40 XTI
i, XA ST, IR MM 30 ETH G AN B ERBEIIT, RLHILL 40 2T
BREHHEEL . AR T 10 ETRAHK T 1000 R58, MR HH# R 20 SETTH &
LI H— I EFEPAT, IRERHR K 20 Tk 2000 &0, BRHEILEE=TH M
Ry, EEER & WPRENHMELRE 0, XF L AT M FHLILRS &K 4000 27T,
Aaf, Hres AT SE 2 A% B2 0 B SIAN B M o Yo R T B8 2% AR o

IR REMRE T 40 5T, MAZBBEARESBIUT, HRIEHRRMBEABRK.

8. MIAAE—REHMEHELF, REZREMEH 29 25T, 3TAHARITHEA
30 ETHBERBRAINIEHR 2.90 £T, RE 5800 EXHLTATRE, AAWHTIERE
RIREE: MARE, BB, EANKEHNZD?

You would like to speculate on a rise in the price of a certain stock. The current stock price is
$ 29, and a three-month call with a strike of $30 costs $2.90. You have $ 5800 to invest. Identify
two alternative strategies, one involving an investment in the stock and the other involving investment
in the option. What are the potential gains and losses from each?

B, —FhERE R TEA 200 BOEE, 5 —FhIRERESK A 2000 MEAEL( B 2000 Br-&49) . 4N
REREMSES B, HMREETRELZRE, G, mREEMNE EFE 40 T,
W S — R IE A8 [ 2000 x (40 -30) ] —5800 = 14200 €T, WM EE—Fhfeme P ALREIRTS
200 x (40 -29) =2200 6, R, HRRMBE TN, H_FRRESHEAGRR. 6
o, WEREBE A TBRE 25 50, F—FRISHIBIK A 200 x (29 -25) =800 3T, MitE—

4



o SR OB 2k 28 5800 EITHII YT

9. RIZIRHE 5000 Az FRMN{E 25 FLHRR. WATIEATRPICRBRRBOBELN
HMEZEREE 4 MAPRLZRRN TRARM?

Suppose that you own 5000 shares worth $ 25 each. How can put options be used to provide
you with insurance against a decline in the value of your holding over the next four months?

& FTLISEA 5000 BEBATHHE R 25 2T, HARRM 4 A H R BIIAL, AR EET —F
PRI MR A EBREMRIET 25 25T, WTUBITHN, LG 25 FammiEsed, X
— R B A S W TS 2R

10. —MESEWIT—HEABRBN: PRHBL3 LT, HHREAMH 42 £
JT, HITMAEA 40 Em, MAEMMBER T, BEEWRA? EAMBERT, ZHRSE
PIT? HiEH B R R ERE SR ENRZ EXRAREE,

A trader buys a European put on a 87
share for $ 3. The stock price is $ 42 and 6
the strike price is $ 40. Under what cir- 4]
cumstances does the trader make a profit? g -
Under what circumstances will the option B
be exercised? Draw a diagram showing the 730 35 40 45 60
variation of the trader’ s profit with the 2 1
stock price at the maturity of the option. -4

& R AHR, mERREM
AET 37 o6, WHEEHFEF R
R AL T 40 S50, HIBUE&IT. B 1 -2 R TSR FIBREM SRR,

1. =4 RFEHET—HERXBEHRPN: BRI 4 ET, FHRERMR S 47 £
JT, PUTHHEA 50 £n, BAEAMERT, BEAFHRAN? EAHERET, ZPREH
7?7 FEHIFRREZEUHERRNEZ BXRNREE,

A trader sells a European call on a share for $

B1-2 FBRIANE LR SMEEER

6y

4, The stock price is $ 47 and the strike price is $ 4

50. Under what circumstances does the trader make 2 \ B

a profit? Under what circumstances will the option be £ ¢ . . . ;
. ‘ _ o 40 a5 50 55 60

exercised? Draw a diagram showing the variation of -2

the trader’ s profit with the stock price at the maturity ~44

of the option.

. eI, MBRENEET 54 ‘
£7T, WEHWHR, MBREgEET 0% 0103 RRARELMGE SHRIHRR
FT, BAMB—IESPITIR, B 1 -3 RBTREMBREMEHLE., ,

12. —MEFEME T —MPUTMIES 45 ETMBERPR, —MITHIES 40 ETHE
BN, WHNEEARNENEE., BRENMES3 ET, BRENMEN4ET, HEH
B BB A A ORI X RS E,

A trader buys a call option with a strike price of $ 45 and a put option with a strike price of $

5



15 —_-E#%mi] 40. Both options have the same maturity. The

\\ / :gggﬂ call costs $ 3 and the put costs $ 4. Draw a
\¥ A}tm% diagram showing the variation of the trader’ s
0 30 :40 5 50 60 profit with the asset price.
r &: NE1 -4 hWMBERGHE LT 5¥™
WHBIKFR, BB~ RME a8 =4
B1-4 FEEEAIASERIE SRR X)),
(a) HHEFMET 40 KTTHT, BRRHIIRIE 40 - S, flas; BRI A KIS, |
FHRMRA R T £, FIABKER 33 -S,,
(b) LBEF=HrA&7E 40 ETTH 45 RITZ AN, FRHBERA KR, FHKR T T,
(¢) HBFMHEART 45 £Iht, BERRHIRT S, -45 Wlks; BHBRBA RS, %
BT RITHIBURA, EWEEA S, -52,
(d) IRBFEMEET 33 RTRT 52 5T, HERHFA (X BZRE T 5T A EAME)
X FRAZ 5 HMEHRR H FEBE IBUR M (strangle) , HETESE 9 BiTE,
B BREEHRZTHSAZTARRUAS, BRAXSMANREHNRT TR/
HEM.

When first issued, a stock provides funds for a company. Is the same true of a stock option?

%10
£

5

0

-5

-10

Discuss.

EF: REARNARRMERE, ERE-NZGELLEH - NXHENEY, UK
— R E BRI, MAAAEEES, 2T, BRES KL, ERAH
WRENBLARRE, IRRABRTHES, THTAARBER. REETIATAAM
RHWEK, THHENRRRETREEEHRE. RINEE,

14. EEREA M AZHE R ARG X ARERRE,

Explain why a forward contract can be used for either speculation or hedging,

E: WR-AZHEXN RN SE R, AT U — RS YREITE
R, IRLOE TR, ZHEFRM, Mg LA, Z5ERKR, Ba—1TEHEH
BZLAT X —REERRE, WRSMETRER, ZHEBRK, MK LA, 5
R, WA—TEBEARNE LT L —REERRE. B, ZHE402 ks L8
ATLLABIEMREN HE . MRS EMRHR =M ESRA Ko, BAEIEH
SHMERNTEIITR, FIREXARRMEHTIRERS S,

15. Rig—3 AEA. BUTHEH S0 ETHEHRPMAINIER 2.50 £5T, HHEFE
Mo EEMELT, HNNKEERXEN? EMAELT, BENQENIT? SEEEBHN
& LA 2 AT B E AR B MR R Ao

Suppose that a March call option to buy a share for $ 50 costs $ 2. 50 and is held until March.
Under what circumstances will the holder of the option make a profit? Under what circumstances will
the option be exercised? Draw a diagram illustrating. how the profit from a long position in the option
depends on the stock price at maturity of the option.

E: AWK EE, WREAGBEEOMERT 52.5 5T, HANRFETERE
FH FAEXFEL T, BIBEFEENPPCZS TR B MR R TS 2. 5
EILHA . SRBEMEEPIEIMN R T 50 75, WA SEIIT. HEE, mEREN
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HE7E 50 £I045 52.5 L2, BABBBHIITHE
BAMBHEERRSG, HIGHRBRRUFH g4
WA, B 1 -5 Gl TS M F2. .

16. Big—1 6 ABMHBRBRATNESE 0 & o = e
60 £5E, Mgk 4.00 £5T, FSEHY, EAM 7]
BRT, PNNEHESER? EAMERT, B
WEHMIT? EE BRI L5 Bl 25 2 B1-5 BERENELls
Bt AL B A B R Y T 4L B0 o

Suppose that a June put option to sell a share for $ 60 costs $ 4 and is held until June. Under

what circumstances will the seller of the option (i. e., the party with the short position) make a
profit? Under what circumstances will the option be exercised? Draw a diagram illustrating how the
profit from a short position in the option depends on the 8]

4_

stock price at maturity of the option.

%o 2T B R A, w%AHﬁ%%Mﬁgow . . — B
W 56 37, WAL E AR, B HAEF j///% o e
TR, HIAES ko7 BB 5 16 T fu 352 BIABRAB (6030 |

A% BRI AR T BRI T 60 36T, ML -8
MEPIAT, HEE, WRBEEMETE S6 LTS 60
FEITZ(H, BEHRBEET, I ko7 e kA,
B 1 -6 45 TRz Skl .

17. —(IRFEHET—H 9 ABBNEBERAN, HITHEHD 20 X5, RERS A,
BEMEA 18 E£r, HUMER2 E£xT, MRPBFERH, FEIAREKGN A 25 =5,
ERRERENAETRR

/
A trader writes a September call option with a strike price of $ 20." It is now May, the stock

B 1-6 FHEIRELAE

price is $ 18, and the option price is $ 2. Describe the trader’ s cash flows if the option is held un-
til September and the stock price is $ 25 at that time.

B XBHEETAFRT 2 EXHBAERA, BHEHNNREWA B FHRY

, RHHEFE ARA 5 ZXAEWNR L, B9 AMBLL25 SEITAMNHE R A BRI 20 52
EE’J@'H‘% LIRS I 2 BR

18. —GrEAFEHET—# 12 ARHAKBERAN, BUTMIER 30 £5T, BRMES4
£, EAMERTRESLBEN?

A trader writes a December put option with a strike price of $ 30. The price of the option is $ 4.
Under what circumstances does the trader make a gain?

& MPEREMSTE 12 ABET 26 £, X5ERIRM (B 28T 5 M a9 E 4
1B

19. —AREEEINARERKE 20, EREEBMENSARITERRE?

A company knows that it is due to receive a certain amount of a foreign currency in four
months. What type of option contract is appropriate for hedging?

& HE A BNE BN £ LS NILRE T R ERX— R R AR
B, BB EDUSETIAR .
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20, —XEXBEARMEREGNARTEXM 100 AmMEXT, ERETNEREF AT
A& SR IC R ?

A United States company expects to have to pay 1 million Canadian dollars in six months. Ex-
plain how the exchange rate risk can be hedged using(a)a forward contract; (b)an option.

& XFAFTUSIT—0754H BEA 1000000 fn€ AT EY, MR LR
SETELRIAEHICIOKF £, 838, AR LSE—HERERLIREEANNA B UE e
LR L3t 1000000 AL ATTHIAH] (AR X5 ), WA LTEASN A RmERITICE
FHITRME, AR R TTIC R B ARATRF

21. ZNFXZZARBEUKBESAGRHHBEESY, BRRRTRERIMHSANIE
5 & HIFFE,

The Chicago Board of Trade offers a futures contract on long-term Treasury bonds. Characterize
the traders likely to use this contract.

E: REFERHRIMEANZ G ERZEFHEGARBUTEHZ—.

(1) XHIAR A R FFTEL R

(2) XS B R T B

(3) FEIEHI TG LHTER,

E: XMEUTES S BRHRANE,

22. “HANMFAS R FMIHER", REEHERXFIEN?

“Options and futures are zero-sum games”. What do you think is meant by this statement?

& AT LA XU T -1 7 T R LA

F—, PR BRPITUAHREL TR ML T, BRES-KZGHLRRER
—, HEAHT, ZXA0ERER) F TR (KR, BHERR—&4P Rk
TR TR ZRNE . TR,

B, MRG0 IR GE, WA RERE, TAs—TrEBRE, Hik
MNEEWEXL EE, KRB AR X EmE TREBXK, EEXRASIFEEHHE
B, REZBENC, HHERRALE,

FR LA RU 55 B T Il

23. EHRATRAGHNMRE: F—F~, JHEHEENERSASLMERATRPNES
%, BinHiMgE TR REMNIRITNE.

P Describe the profit from the following portfolio: a
g . - long forward contract on an asset and a long European
,"/ put option on the asset with the same maturity as the
\/’ Lo forward contract and a strike price that is equal to the
I forward price of the asset at the time the portfolio is
,,", - THEY set up.
Pt — FRRHI — .
- — BEN Z: BHEAEZLHNBRMER: S, -F,, K
B S; EFIHAN BRI MG, Fo BMEHE S B BT
B1-7 dakia 7 BT (R B ZZE S ) o

B YIANRE L A EAARMERE . max(F, -S;, 0),
A A R ER : S; - Fo + max(F, - S;, 0) =max(0, S;-F,)
3 .



